Year 3 Homework Answer:

Module 9: Multiplying 3-digit numbers by 1-digit numbers

+/-

1.
245 1000 432 324
153 28 577 436
320 432 534 975
734.5 934 169 390.5
2.
< > <
< < <
< < >
< > <
3.
x - /=
+ X +
x - x
- +/- X




10.

280/273 550/ 495 360/ 368
880 /848 960/ 945 1000/ 994
1095 1250 3304

4 9 6

5 4 9

6 9 7

45 x 5 x 6 = 1350 pests

65 x 9=$585, 585> 570, not enough

13 x 6 = 78 trees

27 x 6 = 162 rock melons




11.

12.

13.

14.

9 x 4 x 7 =252 pages. She cannot finish it in 4 weeks

7 x 19 + 4 =137 students in year 3

5x 2 x2=20kg

96 balloons



